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sz@ze| ot
ANHASHES
AoAstd3EA CEREE
SN HB SR (BIH) - A - B S o S D=2
- = T ° - [EEMREECES = Ol AFOH WS
22| ot 1,567,587 1,236,747 330,840
= 406,600
= 125,380
Al 1,035,607
g3 361,220 567,062 N205,842
= 15,600
= 17,779
Al 327,841
el 361,220 567,062 A205,842
= 15,600
= 17,779
Al 327,841
AN eNas 4,570 4,570 0
201 LetEdl 4,570 4,570 0
01 AtS 22l 4,570 4,570 0
O1 git=2H| 4,570
PREHHL2SE L AR5 HER
500
DEdIdIAAY
4,070,000 =14 4,070
S 2 H ALY 141,030 141,580 AB50
201 LetH] 6,080 6,080 0
01 AtR 22/t 3,080 3,080 0
O8 2g+E 3,080
DEIABENERE 32 EA
0,000& *x112!%43] 3,080
02 3323l 3,000 3,000 0
O1 3322 2 HMAl 3,000
D AR X =M &d&2lsl 3,000,000 x14] 3,000
301 et A F 3,000 3,000 0
10 A& HI 3,000 3,000 0
o H XEX = (=24
150,000 *501+43] 3,000
307 131,950 132,500 550
02 100,000 100,000 0
100,000, 000% * 14 100,000
03 31,950 32,500 AB50
S22583 Al X2 22
,000,000& *1 9,000
6,000, 000& *1 6,000
2sdes 29dl 6,950,000 *1 6,950




A SE 2l

Yo JHEELS
Sol: NIER B CERCE
_ _ _ Muo
SN -ZH A (ZH) - MFAY - BES (il & OH Ol AF o8 HwsZ
SOEENTErEEREEEESE
10,000,000 +14! 10,000
= XS5 2 A ALY 3,600 3,900 A300
201 Ler2gy| 1,200 1,980 AT80
01 At 22l 1,200 1,980 AT780
O1 YLtsgH| 1,200
PEMSO SOt 28 LetEH Y JIE
2lX 7 300, 0008 27 *23] 1,200
202 0FH| 2,400 1,920 480
01 201 2,400 1,920 480
OOFMS S0 o8t SXHSIIF st 8 XS0l
20,0008 *201 x53| 128 2,400
OINESSREHE 4,600 5,320 AT20
201 ety 2,200 3,400 A 1,200
01 At 2tel| 2,200 3,400 A1,200
O1 YstsgH| 2,200
>OFMSE XIEH| 10,0002 122 1,200
>OFMSE REFY 1,000,000 * 14! 1,000
202 01Hl 2,400 1,920 480
01 2UfoiH| 2,400 1,920 480
ONMESES 2 PEXHE Ot
20,0002 x201 53| 122 2,400
OFAY S S TI/ 5H Ol 2 At & 52,000 50,620 1,380
= 15,600
Al 36,400
402 Q1220 52,000 50,620 1,380
= 15,600
Al 36,400
01 PIAR=EE 52,000 50,620 1,380
OOHM S ST 81 0fl 2 A2 52,000, 0002 *14! 52,000
= 15,600
Al 36,400
LABILANU 29 26,264 27,746 A1,482
= 7,879
Al 18,385
101 21248| 26,264 27,746 A1,482
= 7,879
Al 18,385
BRI EESEERS 26,264 27,746 A1,482
OYASBALAUE JIAHZE2R 2
26,264,0002 *14! 26,264
= 7,879
Al 18,385




2M: sH22
HM: JHEHEES
Ce: NHEEEN (&9 HM
_ _ - MEg
2N -3 - c2(3H) - NEME - HES Ol &F2H loﬂ/ix_wH Hns
OFMES=20 2st s&2 Hlol 24 X3 33,000 30,000 3,000
< 9,900
Al 23,100
301 LEtEAZ 33,000 30,000 3,000
= 9,900
Al 23,100
12 JIEt2 A2 33,000 30,000 3,000
OOMES20 st =2 LlolEAAIS
33,000,000 x14! 33,000
< 9,900
Al 23,100
SN RES 2 88,456 88,626 A170
101 1A H| 23,856 21,476 2,380
04 JIZtHZ22NHsSES 23,856 21,476 2,380
OSANEESZ2 SHA AIE2 SE XA
2a 42,6003 2801 %10 x23| 23,856
201 Et24| 62,200 63,230 A 1,030
01 AtR22lY| 14,700 13,230 1,470
OSANEEHZ2 DA M(BIIE, S52)
75,000& x180&F A 13,500
OZIMNEEHZS DXA =22 EY
300, 000& *2I4 *23| 1,200
02 S=294| 47,500 50,000 A2,500
QSN ERES2 DN LS (HIR)
250& x55,00021 *23| 27,500
OEZINERY2 DN LB (SE2)
250% *20,00024 x4 3| 20,000
202 044l 2,400 1,920 480
01 2WdHYI 2,400 1,920 480
OstFNEREZ2 & & HEH =d
20,000 %221 x55| x 12& 2,400
EHAHAANAE AIZ 22| 7,700 7,700 0
201 Et24d| 7,700 7,700 0
01 At 22yl 7,700 7,700 0
O1 etgH| 7,700
DEtEEAAIAE AIZ=22| 7,700,000 * 14 7,700
Uoleg 2el 973,426 454,116 519,310
= 391,000
= 85,980
Al 496,446
HEEEEA 973,426 454,116 519,310
= 391,000
< 85,980
Al 496,446




SN BBl
ol (o12y e
SERE-F-ERLES (B9 @)
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
HOLA (NG ISR 23 698,000 366,000 332,000
= 217,000
= 65, 100
Al 415,900
402 QI XHZO|H 698,000 366,000 332,000
=2 217,000
= 65, 100
Al 415,900
01 QIARZEE 698,000 366,000 332,000
OFGINA(CNG)HARS  30,500,0009 «22CH 671,000
=2 203,500
= 61,050
Al 406,450
OFQIILA(CNG) B A B2 27,000,0008 *1CH 27,000
2 13,500
= 4,080
Al 9,450
S YA 4,654 34,654 £30,000
201 Y2 ] 4,654 4,654 0
01 AtR22lt] 4,654 4,654 0
O1 gerg| 3,904
PESRHHA 242 103,300 54N £ 2,066
>PESRS AIZ ALl 91,900 5T 4 £ 1,838
06 Y2 750
>EH URE 150,000 +52 750
THBHELAXE 27,172 53,462 126,290
201 Y2 ] 19,372 19,622 A250
01 AtR22lt] 9,152 9,402 £250
O1 gerg| 9,152
DOOIBHE S A ABAA £48
80,0008 *153] 1,200
>EY ZHLIID BEAA 48
5000002 « 14! 500
DHIABIX AIB 448 78,8002 +72] 1,252
>EFEY X 2l 2,000,000 14 2,000
>otE ABZA 242 800,000 *43| 3,200
DAUSRHSSESE A2Z 1,000,000 14 1,000
02 BZ22H| 10,220 10,220 0
O1 2222 2 HMAl 10,220
>BHHES A SERNT(SEE, HSRAI,
SE0 9 S) 7,910,0002 14! 7,910
PEZOY BHYYAN LB
75021 %11021+122 2,310
202 01| 6,000 3,840 2,160




SN BRBRD
M goleg 22
EEEE-F-EETE CrRL
_ _ SIEN
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
01 =2Uoitl 6,000 3,840 2,160
OZBHHEAL NS U DIAH2
20,0002 #5091 ¥53| « 122 6,000
405 XHHE SH) 1,800 30,000 28,200
01 RALSEHSH| 1,800 30,000 28,200
OUIIHEYL NI HA] LES 7Y
1,800, 00024 +1CH 1,800
LTAQ QUMK ThI] WA 243,600 0 243,600
= 174,000
= 20,880
Al 48,720
402 QIR 201 243,600 0 243,600
= 174,000
= 20,880
Al 48,720
01 PIIX=EE 243,600 0 243,600
OM=AHU & X¥ 12,180,000 <200H 243,600
= 174,000
= 20,880
Al 48,720
+ReFBH 55,762 51,240 4,522
sEQAUX 55,762 51,240 4,522
MEXEN OlE +5 ME 2LIHY 15,000 15,000 0
207 R HI 15,000 15,000 0
01 ety 15,000 15,000 0
OMEXEN 28 +5 MH 2UHZ
15,000, 0002 14! 15,000
B4 th & Al & 22 19,400 19,400 0
201 Yer2 YY) 13, 160 13, 160 0
02 IT2YH| 13, 160 13, 160 0
O1 2322 2 HAl 3,260
DHISHIEA Q50 U AN L
1, 75021 %8021+ 122 1,680
> ISX2EE 400,000 *1CH 400
> XESXHAI (O 10%EHQ!)  450,0002 * 1CH 450
-EDLL== 65,0002 23] * 1 130
SInES ] 50,0002 «1CH 128 600
O4 THgu et 9,900
AR SENY RFH L L2l
9,900, 00024 +1CH 9,900
202 o1t 4,800 4,800 0
01 =U0iHl 4,800 4,800 0




2A: 2Zzel
B LEBALH
Crol: AEQAUN (EERT
SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
= T ° - [EEMREECES =5 O:H{ﬂ,% Lsa
OH=tH=Ad NEE8ZH & X2
20,000& 42153 123 4,800
M 28I 1,440 1,440 0
M=l 1,440 1,440 0
OxZZAMNE M2 2 1,440
>R (421H) 85,0003 x 102+ A 850
DRaAH+H(22H) 80,000 3+ A 240
DRDZFERIYE(12I1H) 70,0003 55+ A 350
He==s EsAE 2el 11,000 10,000 1,000
B2 A | 1,000 0 1,000
At 2tel | 1,000 0 1,000
O1 Let=ZH| 1,000
PU===sA4 IR 408 =4
100, 000& * 1074 2 1,000
A& Y SO 10,000 10,000 0
A& | 10,000 10,000 0
OYes S3Ad B2+ 10,000,000 =170 2 10,000
EIEAD HHsE 2= 10,362 6,840 3,522
2Bt ZH| 6,962 3,440 3,522
A 2| | 4,762 2,000 2,762
O1 Et=ZH| 4,762
DEQEAD HIIZ2 ?I8Xe =2
500,000& »23| 1,000
DELEAMID MFAANZE 282
345,200 43| x2 K| & 2,762
DaAQHEAILD UBIADE 2 (BHEF 2/5
E) 1,000, 0003 * 14 1,000
23224l 2,200 1,440 760
O1 3322 2 HA 2,200
DSHR= 100,000& = 1CHx12& 1,200
DEQIAIDHE HHl Xz
500,000& »23| 1,000
M=l 3,400 3,400 0
M 28I 3,400 3,400 0
OxZ I At &I 3,400
DEXE 200,000 52 1,000
>DERE 100,000& *108f A 1,000
DdalA 280,000& »58 A 1,400
YAy (stZ &) 177,179 164,329 12,850
& 21,621
Al 155,558
bl (& 2telat) 125,487 124,005 1,482




M BB
M Y2 (s 22D)
e ol A (stF 22l ) (ctel: &
A BB O(B) - NEAY - BAS 0f 1 o e Hl R =2
= 21,621
Al 103,866
ol (sZ2elmt) 53,417 53,417 0
101 14| 49,217 49,217 0
01 B+ 49,217 49,217 0
OAlzte 224 7,457 3 %2221 x300A| 2+ 49,217
203 ERF&d| 4,200 4,200 0
04 FN2ILRFAHI 4,200 4,200 0
ORMZZHERFAI 350,000& x12& 4,200
olEgHI(BX)(stF 22 ) 72,070 70,588 1,482
= 21,621
Al 50,449
101 Q14| 72,070 70,588 1,482
= 21,621
Al 50,449
03 SINHA2R B 72,070 70,588 1,482
OB/SBZAIL A28l 72,070,002 14 72,070
= 21,621
Al 50,449
|22l (sZ22) 51,692 40,324 11,368
Jl2dtl(gzzeln) 51,692 40,324 11,368
201 LBt A 22,992 20,784 2,208
01 AtE222|H] 22,992 20,784 2,208
O1 et=ZH| 15,600
DEMSEFEH| 1,300,000& =123 15,600
O5 =&l 7,392
Dot 522 7,000 2201 43| x12& 7,392
202 (4| 20,400 18,240 2,160
01 =Wl 20,400 18,240 2,160
OJlgge+=dol 1,700,000& x12& 20,400
405 KtatE S| 8,300 1,300 7,000
01 A& EBHSHI 8,300 1,300 7,000
O= A 6,000,000 *1CH 6,000
OPC 2,300
> 2 1,000, 000 *2CH 2,000

300,000 =1CH

300




